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S 3O IIRIIALY 699,498 933,865 N234,367

426,179
68,329

SR




SN A
ZE: A
sl

ok

2N -3 (AH) - HIRAIY - BHE

R
:
0x
I
=
[
2
2
R
12
o
£l
0l%
IS

Al 204,990
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= HnH

04 JIZHMIZE2XNSE = 633,289 813,279 A179,990
O HIOI 20 A =& & 2124 H[(459) 600,583
360,350

60,058
180,175
O/ T ZALE Q124 H| (2Y) 32,706
19,623
3,261
9,822

= HnH

= NN

201 et 1,000 2,954 A1,954
600
110
290

= Hn N

01 At 2t2ibl 1,000 2,954 AN 1,954
M TR ZALE 24 1,000
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110
290

= HnH
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= HnH
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= HnH
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OMZBIOIQUA STEH HHata22 31,500
= 18,900
= 3,150
Al 9,450
405 X+aHE S| 5,500 20,952 A15,452
= 3,300
= 550
Al 1,650
01 RMUSEH S| 5,500 20,952 A15,452
O ZBIOIRA TS IS 7Y
900, 00024 *57H 4,500
=2 2,700
= 450
Al 1,350
OAHIOIQOHA T E DXEEI| 7Y
100,00021 *107H 1,000
= 600
= 100
Al 300
Al 372,009 1,588,351 A1,216,342
= 164,608
= 52,437
Al 154,964
201 Yer2g| 600 0 600
01 AtR2elt] 600 0 600
O MSUMA FOIK 244
2,00021+300% 600
401 AEHILS] 338,602 1,499,553 A1,160,951
= 154,741
= 48,423
Al 135,438
01 Al&H] 335,739 1,483,264 A1, 147,505
OAR4 LErEE(6ha) 10,789,002 %98.9%% 10,673
= 6,792
= 1,199
Al 2,682
OMENZ & (10na) 9,702, 0002 x98. 92% 9,598
= 7,546
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Al 1,405
OBH0| @ =82 = & (30ha)
100, 161, 0002 <09, 1% 99,260
= 69,561
= 9,180
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= 70,002
= 21,000
Al 47,994
oMW REE (2242 ,5ha)
18,223,000 *98. 92% 18,027
= 2,707
Al 15,320
03 Al&S0HHl 2,863 16,289 A 13,426
OAR4 Yurxa =20 116
OMENZTZ 2oh| 104
OblolR&ate Z s 20| 901
OHlZ2FI| 2| 11
O2UR YuxEd =0 527
02Us ZAZXY =0yl 1,008
oMM PEL =0hYI 196
402 212t X201 A 32,807 88,798 A55,991
= 9,867
= 4,014
Al 18,926
01 D2XEEx 32,807 88,798 A55,991
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= 9,867
= 846
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12 JIEtE A3 1,300 1,300 0
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401 AlEHIL 2O 12,778,000 2,550,060 10,227,940
2 7,520,000
= 1,506,000
Al 3,752,000
01 Al 12,749,306 2,540,880 10,208,426
OBSH2F EXIA X 40,000,002 «08.92% 39,568
2 20,000
= 6,000
Al 13,568
OMS AN 2B B AT A 12,259,738
2 7,500,000
< 1,500,000
Al 3,250,738
OUSHHMERSI BT (20108 Albl O/
22) 450,000
03 Al&=OHH] 28,694 9,180 19,514
OBSIH2F XA &5 Loyl
40,000,000 *1.08% 432
OUSHIMESHBTEES 20| 28,262
402 BIZHXHE 0| 10,000 0 10,000
01 SIAREBE 10,000 0 10,000
OS2 FLFH L 25 10,000
A ASTIA A 164,814 0 164,814
402 DIZHXH 0| 164,814 0 164,814
01 PIAREBE 164,814 0 164,814
O3# HIolGIRA X4
8,000, 000% *55 *50% 20,000

_21_




[}
R’

ok
ol

O | © | © | © | © ol Ol OO o | O o | ©
[>T IS o S U S o S o O | © | S | < o | O o | O
la22] | ClO|R]|® @ e N[N
A0 Nle|s|glg 1zl | S|
<[ <
Klo
E
D
Ol O |l O | O] O ol O | ©O | o o | O o | O
| O | © | @ | O | O o | O
MBI SIESERN |2
S YIY|=|= - |=
H3r
uiled!
KIS
< O O Ol O] ©O | O] O©O|lWOW O© &~ O ¥ O O O ]l olo|lo|loo o o ojlo|lo olo|lo o
[ep) O O V|V T | T I I < 00 O OV § © WU JTI JF|I | T T & © Ol OO0 Ol |lo O
®» ool m|lnT m YIS YO oo NN H S OO0 ©(N|N A
N~ O M~ OOl OO Ol OO ] OO0 © O M — — T— [o>3N B> NN BNe> NN I o) NI~ o] 0 |0 vl g I3 <
[ — < | v | N N | NN NN Al | AN — | —
3
<
=
s =) WS W oo W S ol
® P Y N QNN AN WL
© = x X x x x ¥ x
o | & £ZYW A
X0 — Iaw* m15mm%m
N * TS w N > 7 S S NS 3l
5l o) S 5 o 4%.&0043 -
o o 0 O N O N AN oo o< m
: S o = 2 ©F =< - ® — W
0 |ns 8 S o © o
=z |=8 ) . & = W
© N > W S 3 R
I s & SH _ = @0 U
z | = _ N xr R R
= oFJ 7o) 0 —
. KD — - — KF —_ o
=l 2 = S m - =3 5 ®
= |2 Q) — o x M & Rl -
~J K] . D H Z = NN KF = OKF
e B ol R T T - D Rl R ORI o Kk OF
s le R &= = (TR F KT A KEKE K = o- &l
o A ) ey e Mo M M0 o7 M M ook o Z|z|3 ¢ ko “lz|a a
o ARIGIS]E IR TR BT O ] e Lifso|& & & a - ™| Rr|8 0
I L O I Rl Bl I B e S R BN 3 ) i (e N8 O Y S Al | k00 X
Rk K A Els|m|s ° w_ il o | |I Y|k 0
B |0 O O O|=z|z|ls|a|or O Zls|aulo O O O|s |nr O|& |+ O
. B3 || — | e SR — | o~ | = o | <
o= B[ far| 2| A T S &< S| °
n o0 | &r| a3 W~
R | o ~

0

_22_



